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Содержание

f ≥ 0

∫
Ω

fdµ

f — суммируемая
∫
Ω

|f |dµ < +∞

Пример.

f =
1

x2 + y2

Ω — окружность радиуса 1∫∫
1

x2 + y2
dxdy =

∑
n

∫∫
1

x2 + y2
dxdy ≍

∑
(1)

f, g > 0 f ≍ g ∃c1, c2 > 0 c1f < g < c2f

inf fµE ≤
∫
E

fdµ ≤ sup fµE

в Ωn:
1

x2 + y2
≍ 1

1
n2

1
1
n2

≤ 1

x2 + y2
≤ 1

1
(n+1)2

n2 ≤ 1

x2 + y2
≤ (n+ 1)2 ≤ 4n2

(продолжение 1)

+∞∑
n=1

n2 · λΩn =
∑

n2π

4

(
1

n2
− 1

(n+ 1)2

)
∼

∑ c

n
— расходится

1
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Пример.

f =
1

x+ y

Ω — квадрат 1× 1 ∫∫
1

x+ y
=

+∞∑
n=1

∫∫
1

x+ y
≍

∑ 1
1
n

(2)

1

2
· 1
n
≤ 1

n+ 1
< x+ y ≤ 2

n

2
∑ 1

1
n

· 1

n3
=

∑ 1

n2
— сходится

длина ≈ 1
n , ширина ≈ 1

n2

Функции:

1.
f(x, y) =

1

(x2 + y2)p

2.
g(x, y) =

1

|x+ y|p

3.
h(x, y) =

1

|1− x2 − y2|p

Области:

Рис. 1: Круг
Рис. 2: Доплнение

круга

Рис. 3:
Треугольник

Рис. 4: "Рог"
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Рис. 5: Четверть
астроиды Рис. 6: Полоса

Задача 1. f = 1., Дополнение круга

Решение.
1

(n+ 1)2p
≤ f ≤ 1

n2p
⇒ f ≍ 1

n2p

1

(n+ 1)2p
≤ f ≤ 1

n2p
⇒ f ≍ 1

n2p∫∫
dxdy

(x2 + y2)p
=

+∞∑
n=1

∫∫
Ωn

1

(x2 + y2)p
≍

∑ 1

n2p
· n =

∑ 1

n2p−1

• 2p− 1 > 1 — сходится

• 2p− 1 ≤ 1 — расходится

Задача 2. f = 3., Круг

Решение. ∫∫
Ω

f =
∑
n

∫∫
Ωn

1

|1− x2 − y2|p
dxdy (3)

A:
1− (1− 1

n
)2 − o2 =

2

n
− 1

n2

B:
2

n+ 1
− 1

(n+ 1)2

1

2n
<

1

n+ 1
<

2

n+ 1
− 1

(n+ 1)2
≤ 1− (x2 + y2) ≤ 1−

(
1− 1

n

)2

≤ 2

n

1− (x2 + y2) ≍ 1

n

f ≍ 1(
1
n

)p = np

3 ≍
∑

np · 1

n2
=

∑ 1

n2−p
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• 2− p > 1 — сходится

• 2− p < 1 — расходится

Задача 3. f = 2., "Рог"

Решение. ∫∫
Ω

f =
∑
n

∫∫
Ωn

(4)

x+ y:

A
(√

n
2 , 2

)
n+

√
n√
2

D n+ 1 +
√
n+1√
2

B(
√
n, n) n+

√
n C n+ 1 +

√
n+ 1

1

(3n)p
≤ ”D”

1

(x+ y)p
≤ ”A”

1(
n+

√
n√
2

)p ≤ 1

np

f ≍ 1

np

4 ≍
∑ 1

np
·
√
n =

∑ np− 1
2

• p− 1
2 > 1 — сходится

• p− 1
2 ≤ 1 — расходится

Задача 4. f = 1., "Рог"

Решение. ∫∫
"Рог

1

(x2 + y2)p
=

∑∫
Ωn

≍
∑ 1

n2p
·
√
n
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